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' LIBRARY & INFORMATION saiay A Y-l Qsin
SCIENCE ORTENS § |
PAPER-II |

Note : This paper contains FIFTY (50) multiple-choice, matching questions, each
- question carrying TWO (2) marks. Attempt All the questions.

A4 1 2 WS v (40) egRselly uadl, Wig-vilg A ASST oirladinl dsHl
. dul Wil Falel avdil 8. UdAds w6 (R) v B

1. Identify content management 1. ~[Aniy] s2r2 Adod-z AisedA

soﬁ:wafe ffom the following E LA
(A) Library manager ) AsAA A3
(B) Eprint B) k-2
- (G} Drupal .(C)' gﬁ@.
(D) LIBSYS - D [l
2. ISBD (CR) is revis_ed from : 2. wdaelsl Aar) ... -l

yalde gl ©.

(A) ISBD (S) | | |
A) SR8l ()

(B) ISBD (ER) (B) 2S5, 20608l (S.212)
(C) ISBD (CM) (©) 2uS.d.oll.sl. (Al )
() ISBD (NBM) | ' @) US.24.60.81. (A ol A

Lib. & Inf, Sci—11 - - '3 | | [P.T.0.]



3. Subject headings and thesauri are 3. (AMa sl >4 [l A

typical exampies of 1 [RRTRPRE "l AqAI3Y GeleRel .
(A) Free text terms o (A Y43d syl
(B) Non-controlled vocabulary (B) uBid woeeisia
(C) Controlled vocabulary {C) ['\'_Bi[‘;lcl qloeeisia
(D) Natural la'nguage' terms ' (D) 46l ouvusL vel
4. Which is no? a web browser ? 4. 54 Aol suG» Al?
(A) Google Chrome N (A) e S
(B) Solaris | B | (B) aly
(C) Apple Safari o | (© Aud w1
(D) Microsoft Edge N D) uSsiaise Aoss

5. National Medical Library of India 5  qoflell 2 2t4ABLS Rautediedl &otui

15 mainly a hbra"’_’ ;n old+l AuAe qslsa adasl
the field of Medical and Allied ,
| yeyd L Jeey

Sciences.

(A) 2Uu—4,
(A) Lending
(B) Reference ®) el
(C) Virtual : - (C) afua
(D) Digital = . (D) ey

Lib.&bfSci-I = 4



Ubuntu is .pﬁmaﬁly
(A) An application software

(B) A web browser

(C) An operating system

(D) Database

National Digital Library of India
is part of the online services of

the .. .

(A) Indian Institute of Technology,
Delhi
(B) Indian Institute of Technology,

| Khargpur

(C) Indian Institute of Technology,

Roorkee

(D) Indian Insfitute of Technology,

Kanpur

Lib. & Inf, Sci.-11
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Which managerial approach views

that the power of a certain office.

stems from the person holding it
and the same position might carry
much different influence when

occupied by different persons ?
(A) - Traditioﬁal

(B) Empirical

(C) Directive

(D) Formalistic

A strategy that ties together all the
objectives, policies, procedures, rules
and budgets into a single plan is

sfrategy.
(A) Long-term
(B) Grand
(8 Competitive

(D) Visionary

Lib. & Inf. Sci. 11
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10. Cranfield project was associated

11.

12.

with

" (A) Indexing

(B) Abstracting
(C)- Cataloguing
(D) Bibliographic description

A dictionary that traces the origin

of words is known as :

{A) Subject dictionary

(B) Special' purpose dictionary
(C) Translating dictionary.
(D) .Etymological dictionary
Word ﬁet is ¢

(A) A networking progi‘amme
(B) A thesaurus

(C) An ontology

(D) A library network

Lib. & Inf. Sci—11

10.

11.

12.

3f3es Nidse Al W Asoudel edl?
(a) MEdlsra

(B) AR5

(C) yRsW

@) sHay@u asl+,

ueld 4 suladl weesa

........

ofl sy 8.

(A) [@my oesial

(B) [Are 8¢ wesia

©) gallRd wsesy

(D) HuRt wesiy

qs A2 8§ :

(A) Aedf sdsd

B) RAl

Q) »i-adi

D) ;iauciq A2af
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13

14.

Identify the - non-probébilit’y

sampling technique among

following :

(A) Purposive

(B) Simple random -
(C) Systematic random
(D)} Multistage

The method designed for use in
refining judgemental data collection
fmm a panel of selected experts
is :

(A) Content .anal.ysis

(B) Historical method

(C) Case study method

(D) Delphi method

Lib. & Inf, Sci.~II
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15. Identify the following that does not

16.

come under user education :

(A)

(B)

(C)

(D)

| iy

(B)

(C)

D)

Initiation of the freshman

Library tour

Observing user’s information .

seeking behaviour

Bibliographic instruction

Zero based budgeting means :

There will be no increase in

expenses or income
There will be no budget

The difference between income

and expenditure is zero

All propoéals for income and

expenditure will need to be:

justified

Lib. &Inf Sci-I
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17. Which of the following is classically ~ 17. (il 56 wiuelld ulusezd

Y

Wissl’ etiasll ald v 209

known as ‘MOROCCO’ binding ?
o Y

(A} Half leather binding :
(A) g1s Ay oyd«siog

(B) Linen binding
(B) e ous-gloy

() Cloth hinding (C) sdiy sus-siay

(D) Full leather binding (D) g4 Aux sus-slo

18. In MARC record structure, which 18. WE ISl UL C'-iﬂ?ﬁf’iﬁt

component is an index to the ) L. N
oSl dsir 2 salaan sut deadl

location of variable length field

RZe sami 2ud 87
within record ?

| A) dls:
(A) Leader .
(B) Directory B) (835231

(C) Fixed field (© Bsu Bes

(D} Fields for subject access D) Besu $12 uoHs2 s

Lib. & Inf. Ser.-I1 10



19. Match the following and select the

correct answer from the codes given

‘below :

(Z) Lines of thought

(ii) Organization o.f knowledge

(iii) Essays of an ihformation
: .scientist |

(iv) Classification and indexing in

science
(@) Eugene Garfield
| ®) B.C. Vickery
(¢) Maurice Liﬁe
(d) Jennifer Rowley
Codes :

® G G G
A) © @ @ o
® @ © ® @
O @ ® @ @
) -'(a). © @ ®

Lib. &Inf Sci-IT o 11

19. A [@Qseyia 681_5"1 24 {13 e

CsisHil AR Gur wde s

@ Sy »is €2

(@) AALSIUA 2iis UAX

(Gi5) A2 28 Vi, Srslud Wy

(v) sdlsliad Aes S-8&loy O

ALY
@ Yt duldes
® ol s
© WA ade
@ %132 UAGA
SiS :
@ @) GiD) @)

@ © @ @ 6

B D) ) @) (a)

© © & @ @

D) @ @ @ &
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20. Library Assoéiation UK. is now

" known as :

(A) Charterea Institute of Library

and information professionals

(B) Chartered institution of library

and information professionals-

{C) Chartered institution of library

and information profession

(D) Chartered institute of library

and information profession
21, Library cess is a :

(A) tax levied by the central

government

(B) tax levied by the state

government
(C) surcharge on an existing tax

(D) fee charged by the library

Lib. & Inf. Sci~1I
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20. @dal AARAg—y.5. sid s0

21.

(A)

(B)

(C)

D)

Al i 87

A28 Sradleye »is AldAl -

Sesilad WSAAR

A Gradlayad e didal

A5 Sroduq MBAAR

158 ‘&Qélag%lvl g adal

x5 Srsilar WA

1S $v22l2y2 2iis A s

Sesilait WA

daidy 53 .9 &7

(A)

(B)

B ARSI gL ARl aydid

UYL AR gl AU aydd

(©) Madaid AL UR daiidl 52

(D) Ay gl ayaaul »uadl $1



22.

23.

24.

Which of the following is a primary

document ?

(A) Science

(B). Indian Science Abstracts
(C) Science Citation Index
(D) World of Léarning )

Which of the following sequenées of
terms for indexing is recommended

by E.J. Coates ?

(A) .Concrete and process
(Bj PMEST

(C) Things, materiél, action
(D) DEAP

When an abstract is orien_ted to

serve a special group, it is called :

(A) Slanted abstract
(B) Indicative abstract .
(¢) Informative abstract

(D) Critical abstract

Lib. & Inf. Sci-I1

22.

- 23.

24.

fﬂil'tl’-l'laﬂ sl s uaw 87
(A) AR

(E) SESuA AU NP5
© wa e S-S

(D) aes s ala

§.%. slen gl MEdls@ e
Al 55 e gl YAAUHL -
well 87 |
(A) yd 2 .u[%zu

® Lan. S,

©) axil, wed, Bu

® ASA

e od M2 ddi ddl AR

........... s8UUL n»uél_ 9.
(A) W2 AR

B) WRYAs AR

() ARdlue AR

(D) RdAUHs W
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.25. In the wuniversal decimal 25. yHadd Sylva saMBIyqni :

classification the : (colon) indicates : (ol Re-) g suld 87
(A) Basic subjects ' (A) WU RNy

(B) Phase relation -('B) gﬁeff‘»ig Hoiy

((5) Main subject (©€©) 3wu vy

(D) Simple subject (D) ¥ [any

26. Which of the following are 26. -[ld-unidl 3R -0 dfs
formal channels of information Al 58 87

communication ? -

| | | @) AR AR YA
(t) Patents and standards

(Z1) Conversation and invisible G Adlan A LM Hét[ﬁﬂ_lét'-u '

colleges (i) WAHASIR M Ay3dod yal

(i) Correspondence and personal _ _
(v) v >dalal s wnfus

discussion
. . . c *,
(i) Research reports and journal il
articles | @A) @), ) %A ()

(A) (i), (i) and (iv)
| (B) () ¥ (iv)

(B) @) and (iv) |
- (C) (D) ¥R (iv)
(C) (iii) and (iv) |
(D) (i) and (if) | @) @) A Gii)
Lib. &Inf. Sci.-IT | 14



27. Which of the following is not covered

28.

29.

by copyright ?

- (A) Newspapers

(B) Computer programs
(C) Sculpture
D) Trademarks

Which of the following is a type of

bibliometric method ?

(A) Case study method

(B) Comparative librarianship

(C) Library surveys
(D) Content analysis

Who among the following is
associated with the library course
offered at Imperial Library Calcutté
in 1935 ?

(A) W.A. Borden
(B) A. Dickinson
(C) Khan Bahadur Asadullah

(D) S.R. Ranganathan

Lib. & Inf. Sci-1I

29.

15

27. QA4 S sildedi wal

28.

Qi Al 2uey?

(A) RHALRYL

(B) 3#_12% ETE]

(©) : Ruew gla

fD) P

AAAuiadl Brodl2AiAl2s ﬁa[&«& Ui
g &7 |

(A) | Af3doid Ao usld

B) .gc{qws SETEIREC

©) siwan udaw

(D). ([Quuarg Yass

1935 Hi SPulua awdAl-sasal

ulddl  AAEY  AoUASH AL

Adeuniell sie un &sﬁ@; 7

(A) Sty oSt

B) 2. [(Bsl=un
(C) Vil GlBIER VRAUgEEL

(D) AA. WU, L2A-UYUA

[P.T.0.]



30.

31.

- 32

‘The Telegraph’ is a :
(A} Travel guide

(B) Geographical source
(C) Newspaper

(I») Biographical source

A trend report is a .......... o evern———— .

(A) Secondary Source of Information

(B) Primary Source of Information

(C) Tertiary Source of Information

(D) Bibliography

A subject made of a basic class and
one or more isolates is said to be

a .

- (A) Simple class/subject

(B) Complex class/subjéct
(C) Compound class/subject

(D) Amplified class/subject -

Lib. & Inf Sci~II
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30.

32

‘q edlaus’ g &7

(A) N Hale s
(B) eilotifas elid
(© %mtzuwét

(D) @anARAAS Wiid

Nl vdad §f 87

) R By sau-l wild
®) ulRdl-dl salis satl lld
©) RAHL glau sa-l wid

(D) cusHuy

WYL, 4] 2 205 Al qal? yu s
Q1L [avuq
8.

sdalMi 21

@A) A0 ]/Rmy

(B) iysd af/fany

(C) »lea adfjlamy

(D) Aalda adf/fany



33. Match the following and select the

34,

correct answer from the following

codes ;

G) Fusion

({ii) Loose Assemblage
(¢ii) Lamination

(iv) Distillation

() Curriculum for university
education in India in 2017

() Medical jurisprudence

(¢) Influence of human physiology

. on disease

- d) Mahagement theory

Codes :
@ G GE )
QA & © @ @
® @ ® @ ©
C @ @ O @
D © @ G @
‘Johari Windbw’ is a concept that
has originated from :

- {(A) Psychology

(B) Information Technology
() Marketing of Information |

(D) Information Retrieval

Lib. & Inf. Sci~1I
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. tofgdl divsl’ l [Rena-y

33. A [Qseuin st maA »1Ug sisuil

AAL B wale 53
G dulw-

G) R4 Asw

Gii) WA

(iv) [:lﬁivl

@ $A544 5\1.2.3[:151[.5%1 AAYFUA
61 Slesul 64 2017

() ARsa wyTlysu

© isz%ega,tvéL ERTR] ARdidiw
i Sl{lu |

d) Az fuzl
1S :

® G (iv)
A ® © @ ©@
B @ ®» @ @
) @ @ & ©
D © @ & @

- (§D)

iyl Gemedl B. 'i
(A) M-z |

(B) MR 2sicion

(C') wilRdld sl

O wRdl yu wld |
PT.0.]



35. ‘Half life’ in informatibn science  35. ‘&l¥ alss’ o Hifsdl [Eliilfl‘i[

relates to : i, e doilad .
{A) Rate of Obsolescence | (A) sladdi-l Hs/usm
(B) Rate of gro-wth | . (B) Ci[afﬂ AL UL
(C)} Degree of scatter (©) a—-[aviz-l /s
| (D) Information explosion tD) Hdl [Rasie
36. ‘P notes’ is a specific feature of : 36. “dl -2’ A ..., i I[Q[ﬁlta.c-t&t'gl
(A) Library  of Congress 8. |
Classification scheme - (A) ASATL 2Us 519y Qem{l[%}%m
(B} Universal ' Decimal Wl
Classification . - B) yhaa e sqdlZiaq
- (€) Dewey Decimal Classification .(C) sy dla sarlBiun
(D) Colon Classification ' - (D) sian sadlBisq

37. When the distribution contains very 37. o3 Qrtlcj_[?l Razani Wy GUL AY AL

high or very low scores, the most AAL Wdlsl S8 9 Ll yad]
appropriate measure of central [iﬂ[?[f{l Wiud w12 ugdl ay Hloy
tend‘ehcy may be ? Hiyd o1s W3 87

(A) The mean (A) Heus

(C} The mean and the median (C) HWLS A H39Y

D) Th ' |
(D) e mean and the mode D) H®Ss 2R slgas

Lib. & Inf. Sci~II | 18



38. The purpose of the

39.

protocol is to prbvide a bi-directional

communication facility.
(A) FTP

(B) TELNET

(C) SMTP

(D) Z39.50

The Dublin Core element set
consists of fifteen elements that can

be divided into the following three
groups —
Elements related to the

(f) Content of the resource

(1i) Resource when viewed as

intellectual property
(iii) Physical format of the resource
(iv) Issue of resources instantiation

Select the correct answer from the

codes given below :
(A) (@), (D), @)

(B) (&), (i), (iv)
(C) ), (iid), (v)
(D) (@), (it), (iv)

Lib. & Inf. Sci—I
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39.

walsiadl &g -y

.........

el ylar Yl wsal 8.
(A) sl

(B) ed-ie

(©) A

D) 95539'.50

seelld 512 e deidl Aol & %A
13 oot oa ol Renld 53
(ETCN .' Aol dedl :

() wlid- [Avaarg

Giy wld—s ollfas dul

(i) Wd-L eillas w@3u

(iv) Wldirl greidlsal He
A SisHidl WAl Gu el
(A) ), (i), (@)

B) (&), (@), () |

(© ), D), (@)

(D) - D), (), Gv)
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40. The message that is conveyed

4].

42,

through body language, facial

€XPression, i8 a .........ccceveeenenene. type

of communication.
(A} Informal

(B) Formal

(C) Non-verbal
(D) One-way

In which of the following selection
methods, each member of the
population has an equal chance of

getting selected :
(A) Purposive sampling

(B) Convenience sampling

(C) Lottery method of sampling

(D) Snowball method of sampling

Hypertext transfer protocol belongs
to the of the OSI
model.

........................

(A) Presentation layer
(B) Network layer
(C) Application layer

(D) Transport layer

Lib. & Inf. Sci.~II
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40.

41.

42.

g Azl v WS ouml, w32l

slacitad]l asd Ay & at

oooooooo

N5 U 58 9.
(A) -lluaul s
(B) >{lvals
(C) —awldes
(D) As—azrsl

-l wiedll wgRadinidl, 5§ gl
gL afasanl 835 aeuq waiedll
A ds Wl WY

(A) AL-UAY Ayl ugl
(B) 3u Ayl wgl

(€) diedl 1y ugha

(D) lold A3l ygl

LU 282 21-us Widisig ¥l
AU WS
qd 6.

(A) ARr2et AU

A8 Aoy

---------

(B) &éc& AYR /3
(©) Awelldu Qufadr

D) 21-uNé QYRR



43. According to General Financial

44.

45.

Rules 2005 of Ministry of Finance,

Government of India, how mahy

- books are considered a reasonable

loss for every one thousand volumes
of book ?

(A) 3

B) 4
©) 5
o7

The latest printed edition of

international encyclopedia of the

social sciences is the :
(A) 2nd edition
(B) 3rd edition
(C) 4th edition

(D) 5th edition

43.

44,

GHlRd ARSI, Bl HatldusL 2005

L AHY USSRl g &R

MR YRS bedl Yeist vias uY

dl euzsll aeuy?
(A) 3
(B} 4

(C) 5

©® 7

SrezAurd srmusalrBa s 4
Ailaa wa-dla-dl sadd yed
s>l

A) 2 ® w9l
(B) 3 ®» g4l
(© 40 »uqf -
D 5 W gl

Use of parentheses () to group 45. %[2d w4 s w2 oellu sa0

portions of Boolean queries for more

complex searches is known as :
(A) Wild card

(B) Proximity

(C) Nesting

(D) Truncation

Lib. & Inf. Sci-1l

21

e (

) Sl sl 2 8
a3 w8,

(A) wdes sis

B) uiall{lél
(C) o

(D) 25U
[P.T.0.]



47.

48.

e e e e ———— approach allows a
concentrated focus on a single
phenomenon and the utilization of
a wide variety of data gathering

methods.

(A) Community surveys

(B) Case study

(C) Delphi method

(D) Evaluation research

Which of the following canons of  47.

airray would ensure that no two

. classes of the array overlap and

there are no cross classification ?
(A) Canon of exhaustiveness

(B) Canon of exclusiveness

(C) Canon of helpful sequence

(D) Canon of consistent sequence

| “A subject of great extension and

small intension, usually embodied
in a whole book, single volumed or

multi volumed is a :
(A) Micre subject
(B) Micfo document
(C) Macro subject

(D) Macro document

Lib. & Inf Sc1-11

48,
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46.

BMOH 25 % Yert uR

2l 3[tad s5alHl A 82l Hsa
sadldl [alaa yglaaiqai Guaial
sall Acuadr Y ws 8.

(A) Ay adaw
(B) Al3dotd vl
(€) Sesl ugl

(D) Hedist RAelan

QWG il sul Guya g2l
W, (A2, iy 9 3 qof QB sdus
& QUL Y1 B A slcll ASH mA
WS allsam A ¢ld ASA ?

(A) [Fudvald . Guyst
(B) ey AU GUya
(C) -uslussHg Guysl

O dLd ufédwj Guat
anal B Sueryds- @wa
qruefl, aned Ad sy Ayl i
R ¥ Bls NAAL dY UL €Y
TR '

N Y& [avy
(B) y& udy
(C) oled [Quy
D) oled My



49. Match the following and select the

50.

correct answer from the codes given
below

() Information Today and
Tomorrow

(i1) Library Trends

(fi7) Dissertation Abstracts
International

(iv) S_ciehce Citation Index

(@} University Microfilms
International

(b) Web of Science-_

(¢) University of Illinois

(d) NISSAT

Codes : _
@ G @) v

Ay & @ © @

(B) @ & @ ©

© @ © @ ®

O © @ @ b

Which budgeting technique has the 0.

element of inflexibility in it ?
(A) Performance budget
(B)
(&)

D)

Programme budget
Line-item budget

Planning
budgeting system

Lib. & Inf. Sei-II
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49,

Q34 Bsedi ASL 2N B SisHisl |

AL Gz e s :

G Swsilan 25 - glﬁél

(i) el 2y

i) Spéar Biexgsed dr2r-u-d
(iv) WAL W2 Seda

@ YFaRlE ussiBen deraund

®) A6t vl AU
(c). gmq[é[él 2ils SelllS
@) ["RUe
sis -
G) @) Gh) )
A b @ © (@
@ ® @ ©
© @ © @ ®
o @ @ @ O
56 2 el UAY wlalaw]

uRad-eledid det slu 897
(A) wspi e

(B) MM ti%e

(C) auS—viSen wye

@) il daufiol a2 ey
[P.T.O.]




ROUGH WORK
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